Precalculus    Test  Sections 5.1 – 5.2    Name __________________________________

1 – 5.  Multiple Choice.  Show work. 

_____  1.  Perform the addition and simplify:  
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                    A.  cos(x)          B.  
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          D. sec(x)

                    E. None of these

_____  2.  Given csc(x) = -3  and tan x >0,  determine cos(x)
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       E.  None of these

_____  3.  Simplify  
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                  A.  1 – 2sin2x          B.  
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          C.  1          D.  –1          

                  E.  None of these

_____  4.  Simplify:  
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                  A.  cos(x) + tan(x)          B. 
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                  D.  cos(x)                        E.  None of these

_____  5.  Factor and simplify:  
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                   E. None of these

6 – 11. Free Response.  Show all work on your own paper.

                                      Prove each of the following identities:

6.   cos2x  csc2x  =  csc2x - 1

7.   cot x  +  tan x  =  csc(x)  sec(x)

8.   sin(x) tan(x)  +  cos(x)  =  sec(x)

9.   Choose one of the following identities to prove:
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10. Choose one of the following identities to prove:

      A.   
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11. Choose one of the following identities to prove:

      A.   
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12. Extra Credit
      Prove :                  
[image: image24.wmf]1sincos1sin

1sincoscos

xxx

xxx

+++

=

-+


_1066419146.unknown

_1066419440.unknown

_1066491882.unknown

_1066492216.unknown

_1066499665.unknown

_1066499792.unknown

_1066492337.unknown

_1066491924.unknown

_1066491968.unknown

_1066419798.unknown

_1066419835.unknown

_1066419578.unknown

_1066419760.unknown

_1066419492.unknown

_1066419304.unknown

_1066419374.unknown

_1066419178.unknown

_1066418615.unknown

_1066418894.unknown

_1066419117.unknown

_1066418795.unknown

_1066418490.unknown

_1066418540.unknown

_1066418454.unknown

